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N.B. 1) Q.l . is compulsory
2) Q.Z. to Q.5. having internal options
3) Figures to right indicate full marks.
4) State your assumptions clearly.

QlA) Multiple choice [Any 8 out of 10]:
a) _ Capital is the capital of a business
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a

You are required to calculate the comparative profitability o
net present value method and advise the management

Q4P)

I

Key infbnnation peftaining to the proposed new
given below :

If the firm is fairly
Which plan would

Q5 P) Explain the

50%

of
I7l

I8l

lrsl

Whata)
debenture S

Qs)
)a

b

Year 1 2 1
J

Present value factor 0.88 0.77 0.68

Source ofFunds Financing Pl
1

Equity 15,000 sh'are

each ,l

l2Yopreference share

Debentures

:1.,

Rs.5,00,000 e

rate of 10% ,

of

t

4of4P 8e

OR
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Q3A)
Calculate IRR for project Vipul Ltd.
Initial Investment : Rs. 7,20,000
Further Cash llrflow are
Year I - Rs. 2,90,000 Year 2
Year 3 - Rs. 2,80,000 year 4
Year5-Rs.2,80,000
Find IRR (by 15% and 16%) when
PV factors are as follows:

Q3P)
The rate of return of
below along with the

- Rs. 1,3

- Rs. 90,

I I8l

Q3Q)
M

ofreturn for stock A

17l
s after 6 years. He would

much should he invest today if

[1sl
alternativeselect one project out of two

following particulars are given

is l4oh p.a. The present value of

ieceSsion
Pro a'.1 r,-

-J, ri:.'

0.0

Year PY @)5% PV(@I
I 0.869
2 0.756 0.74E
J 0.657 0.640
4 0.s71 0.5,52

0.497

(ea.i$:,S.;.,:l.5 Project X (Rs.) ect Y Rs.
2,00,000 1 000

60,000 5 000
40,000 45,000
40,000 30,000
35,000 30,000

5 40,000 20,000
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Q2P)

,.J

Calculate EPS under the
highest return to the

giving the

t8l

,:

Calculate
Following

leverage for the

tal structure of MILD company: t7l

ine the weighted average cost of capital, using:

S D
6,700 31,800

o,ooo 3,50,000 2,50,000
.: rj: 75,000 NIL

85 130 37
::J

38.00 42.50 12.00

Market Value Specific Cost
40,000
10,000
60,000

000

38,000
11,000

1,20,000

5%
8%

t3%
9%

1,30,000 1,69,000

ghts

Page 2 of 4

I

I

I

M0133 S.Y.B.M.S, (CHOICE BASE) (SEMESTER III) / M0286 CORPORATE

5) Financial Breakeven level occurs when EBIT is Zero.
6) Operating Leverage directly impacts the EBIT.
7) Cost of Debt is same as the rate of interest.
8) Trading on Equity results in decreasing EpS for
9) EBIT - Interest : EBT
10) Debenture holders are the owners of the

Ramon and Damon Ltd., planning an
lakhs and can in the funded through one

a) lssr-re further equity shares of Rs. 100
b) Raise loans at 15Yo interest
c) Issue preference shares aI 12o/o .

Present paid up capital is Rs. 60
and average annual EBIT is
expansion EBIT is expected

r.i.
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17,500

1,25,000
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